TEST 13

	Description
	Multiple Choice. Use the text or powerpoint as a reference.

	Instructions
	

	Multiple Attempts
	This test allows 2 attempts. This is attempt number 1.

	Force Completion
	This test can be saved and resumed later.







QUESTION 1
1. How did the Dawes Act fail to Americanize Indians?
	2. 
	
	It was full of racial undertones.

	
	
	It was unable to achieve its goals.

	
	
	Indians lost their allotted land instead of becoming landowners.

	
	
	Indians became further stereotyped by white people.


1 points   
QUESTION 2
1. How was the Carlisle school similar to other elementary schools in the country?
	2. 
	
	It removed children from their homes.

	
	
	It instructed children to abandon their heritage.

	
	
	It taught children reading, writing, and mathematics.

	
	
	It demonstrated that children came from backgrounds of no value.


1 points   
QUESTION 3
1. How were attitudes toward immigrants and Native Americans similar?
	2. 
	
	Both groups needed to be Americanized.

	
	
	Both groups were portrayed as savages.

	
	
	Both groups were intellectually inferior.

	
	
	Both groups had no right to land ownership.


1 points   
QUESTION 4
1. What was similar about Wilson's and Utley's assessments of Henry Pratt?
	2. 
	
	He was honest.

	
	
	He was incorrigible.

	
	
	He was critical about Indian culture.

	
	
	He was open to challenges to his views.


1 points   
QUESTION 5
1. Which of the following contributed to the increase in the number of high schools between 1870 and 1910?
	2. 
	
	People wanted to learn professional skills.

	
	
	Indians were forced into education.

	
	
	There was a large progressive reform effort.

	
	
	Americans wanted to mingle with foreigners.


1 points   
QUESTION 6
1. Why did Indian parents send their children to school?
	2. 
	
	They wanted them to learn English.

	
	
	They were forced by the reformers.

	
	
	They wanted to give them an advantage.

	
	
	They were hopeful for the promise of an education.


1 points   
QUESTION 7
1. Which term BEST characterizes the Carlisle school?
	2. 
	
	unobtrusive

	
	
	ineffective

	
	
	fortuitous

	
	
	structured


1 points   
QUESTION 8
1. Why did so many children at the Carlisle school die?
	2. 
	
	They were beaten.

	
	
	They had no survival skills.

	
	
	They did not have enough food or supplies.

	
	
	They were physically and emotionally distressed.


1 points   
QUESTION 9
1. Why did most Indians dislike the reservation school system?
	2. 
	
	It took children away from their land.

	
	
	It stripped the children of their Indian identity.

	
	
	It resulted in incarceration of Indian adults.

	
	
	It taught children to abandon their spirituality.





1 points   
QUESTION 10
1. Why did the Carlisle school encourage athletics?
	2. 
	
	to highlight physical prowess

	
	
	to bring pride to the students

	
	
	to encourage organization and rules

	
	
	to establish the Americanization process


1 points   
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Assignment MODULO 12  
1. 
2. Using the following link: http://www.nativevillage.org/Inspiration-/Navajo%20Code%20TAlkers%20Dictionary.htm  Construct a short, 3-4 sentence note in Navajo about what you will be doing later this day or week. Also attach your code into the discussions section.

